: Phys 100 2023

Lectwe. 23

MO/\%: Tesi' Z

Covers: Ch 63 - 6.7
i Ful (eFﬁkl'm?j)

Ch 8.1 =2 8.6
Lechwnes 18— 28
HW S5 -+

?)ﬂ\f_)ﬂ: Calowla*'ﬂr
Given: Tormulas on  exam

%: 202)  Tlest2

2022 Test 2

Chopler 6

Ynow awgy , gy con&ovahm/mem[fg o Haghe, polenhal ooy

Erompet (il



1 Bullet
A 0.010 kg bullet is fired vertically. It leaves the ground with speed 100 m/s.

a) How do the bullet’s kinetic and potential energies change while the bullet ascends?

b) Determine the potential energy of the bullet at its highest point. Ignore friction and air
resistance.

c) Determine the maximum height that the bullet reaches above the ground.
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Quiz 2 to% =,

2 Energy produced by LEDs
Two light sources produce light with the indicate powers and for the indicated durations.

Which bulb delivers the most energy for the duration that it is on? Explain your answer.

LED Power | Duration On

Red LED 3.0W 15 min
Green LED | 10.0 W 4.0 min
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3 Light bulb efficiency

A light bulb consumes 60J of electrical energy each second. This is converted into light
(useful energy) with effciciency 0.15. Determine the light energy produced each second.
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4 Sodium Ions

A neutral sodium atom has 11 protons and 12 neutrons. Sodium atoms form positively
charged ions by each losing one electron. A small amount of sodium chloride (Salt) contains
6.0 x 10%° sodium ions. Determine the charge of all of the sodium ions in this sample.
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